41. In the figure below EFG is a straight line.

42.
- Ordinary Money Order and Postapay.

Lines GH and FH are equal and lines HI and FI
are also equal. Angle GHF is right angle and
angle HIF is 32°. What is the size of angle EFI?

E

A. 45°
B. e6l°
C. m
D. 103°

The table below shows part of Tariff for

Range Ordinary Money Order

(sh)

. Postapay
(sh)

7 501-10 000

50 001-75 000

35 001-50 000 450 . 1200
550 | 1600

Karimi has two children in one school. To pay
for their school fees he sent sh8900 by
Ordinary Money Order and sh15400 by
Postapay. How much money would he have
saved had he bought one Ordinary Money
Order to pay for all the fees?

sh 125

sh 400

sh 525

sh 925

Cowpy

100012000 |~ 300~ |~ g5
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